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SN Hors
[u}

Mz =0l OIS AHIA MB(HOHH)
Celr EERQ HOD 29 (S5 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
O8I dxz 67,7008 * 12& 813
02 332494l 15,450 13,050 2,400
O&IIR= 9,960
-2 A 650,000 = 128 7,800
-= X3 & 180,000& = 12& 2,160
O3 1,500
=N 65,000& * 12& 780
-= X3 2 60,0008 * 12& 720
O Xt XAl 30,000& * 4CH 120
o=taNdr="2 620
-4 22 75,000& = 23] 150
EONE=PNE= 47,0003 * 504 * 23] 470
OXgEE = 2,350
-4~ 832 400,000 = 2CH 800
-E23l2 1,100,000 = 1CH 1,100
sy SIS 450,000 * 1CH 450
OH =4l 1,000,000& * 90/100 900
202 04d| 5,000 5,000 0
01 2L Y| 5,000 5,000 0
OgHIR =& 5,000
206 M = Hl 13,000 13,000 0
01 X2 Hl 13,000 13,000 0
Oogddag RFH| 5,000
O=ESJSAIE Mz bl 3,000
OO ™D XZE SIHITAH WS H| 4,000
O2d & g9 =4 22X 4 M=bl 1,000
401 Al HI L £ 0HHI 10,000 0 10,000
01 A& Hl 10,000 0 10,000
OxZdx AKX & 10,000
23 A4 2 BH X222/ (HoHH) 41,009 43,204 N2,195
101 @121l 349 344 5
04 J|IZtH2ZXNEE S 349 344 5
O3F - 20|13&4a 2 282
69,760& * 5 349
201 LEr2 Y| 31,660 29,660 2,000
02 332494l 31,660 29,660 2,000
OMgt=2 Mol =2 10,0008 * 12& 120
OMY D Selx=HE Mot Z3
45,000& = 128 540
O=2Xa & A8 XYl 2,000
OAHERXHI 2,000




SN Hors
[u}

FM: =0 OE MHA MS(HoH)
S9l: SBHO Hop 29 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

OXg =Xl 26,000
-A"st= 4,500,000& =« 20H 9,000
-E=3=2 13,000,000& = 1OH 13,000
-XEE =X 4,000,000& = 1CH 4,000
OFgd HURZ MRS 1,000

401 Al HIZ 2018 2,000 13,200 A 11,200

01 A& HI 2,000 13,200 A 11,200
OMdIIIZ2el=HE HIISA 2,000

405 THabF S| 7,000 0 7,000

01 AL EFH S 7,000 0 7,000
OFAXE FEHA 5,400
OFCIH AT 1,000
OSSoASAL Ha 600

FOUXNXHAEH 2F(HHH) 15,000 15,000 0

201 Let24d] 13,500 13,500 0

01 At 22l 11,500 11,500 0
OFLUXXEEH 29 1,000
Ozlo=¢ 35,0003 = 259 » 123 10,500

03 A2 S HI 2,000 2,000 0
OFQUXX d&2ds A3GH 2,000

301 LEAZ 1,500 1,500 0

09 HALAHIX &S 1,500 1,500 0
OFQUXX|A XoZ2H XA 1,500

FOHOZA XSML(HOHH) 866,000 956,000 290,000

ZEU= NG L(HorH) 866,000 956,000 290,000

AR FUSJAAI (HOEH) 810,000 900,000 A 90,000

401 A& HIZ 201 Y] 810,000 900,000 A 90,000

01 A& HI 810,000 900,000 A 90,000
Osu2el =238l (L=50m) 20,000
OSuUi3el AAHEHl (L=40m) 20,000
O341el =234l (L=150m) 25,000
O34l22] =2 AFHFHI (L=70m) 25,000
O343el =234l (L=150m) 20,000
O=21cl ==L AMHHEHl (L=120m) 25,000
O=g2el =2 L Ml (L=55m) 25,000
O2Y%3el == LAFHFHI (L=100m) 25,000
Og21el s2Z&Yui=234d] (L=150m) 25,000
Og22e =240t& 3l (L=50m) 30,000
O&23cl OS2t AH Al (L=45m) 20,000




SN Eorel
]

M FOIHO T Al KGN (R oo)
Crel: BEQUS OINL (R o) (S &2)
SA-EB .Y (BH) - ABAY - B2 O At 0t San H D2
O=x=&1el == 34| (L=35m) 30,000
OxH2el 2s Aot AH|l (L=50m) 25,000
Ox&3el s MNHLBI=ZFH| (L=130m) 25,000
OZxX&4el == 34l (L=45m) 20,000
Oa&1el =234l (L=110m) 20,000
OFE2el &= HHILAMAIE S A X (L=150m
) 25,000
OF&3el or2et2 & dl (L=100m) 25,000
O=2g1el tAZ2AMN 2L L2 A Hl (L=300m
) 25,000
o=2g2el s2E & (L=110m) 20,000
o212l =222 (L=150m) 25,000
O2322 OtAZHMLI| (A=1,500m ) 25,000
OWgE1e s2ZFLAAZEl (L=120m) 25,000
Oow=2e] s2Z & (L=100m) 20,000
O8E1el £==234| (L=130m) 20,000
ogs2e 2HAAGIAEAEH (L=60m) 25,000
O2s3el s2XE & (L=150m) 25,000
O2&4e &2 H8HIYLs2 & (L=120m) 25,000
O&12l orset2 AHl (L=100m) 20,000
O&d2e| DISEHOAZ2AEMLRD] (A=1,330m") 25,000
O&A3e| AFHAEHI L =2 3] (L=25m) 20,000
O&4e| =234l (L=100m) 20,000
Odtoiel stetx=4d (A=370m") 20,000
O LA (A=228m) 20,000
OLAZANE RANE 20,000
2SS KA (HoHH) 56,000 56,000 0
201 LEr2 Y| 36,000 36,000 0
02 =294l 36,000 36,000 0
OJzs L dss dMIIe3
3,000,000& = 12& 36,000
401 Al HI L 2 THHI 20,000 20,000 0
01 Al &bl 20,000 20,000 0
Os&Elgs RAES 20,000
HESHALI(HorH) 264,572 251,983 12,589
Ol Y| (HQHH) 173,600 162,266 11,334
olAHI(HorH) 173,600 162,266 11,334
101 2124 1| 173,600 162,266 11,334
03 I HLZ2ZZAHE S 173,600 162,266 11,334
ostd ol 173,600
-01221(3%) 173,240
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360
90,972
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29,476
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11,400
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